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x € |—00; 3] z € [—1;4]
x € [—1;400] z € |—1;4]
z€|-%4| x €]-2;2
x € [—20;40] x € [—3;5]
z € [—3;5] z € ]0;+00|
—H<r<4 —2<x<3
—6<z<3 <5< 2
—0 S —HLT<H
—H<r <0 pe 1
x <0 —1l<z
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2r+3=1—4z [1]
(z+3)(x—1)—(1—22)(z+3) =0
(4z—1)2—(2—2)(4z—1)=0
gt 20 0 [4]
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x<3 X € | —00;3] -1<x<4 x € [—1;4]
x> —1 x € [—1;400] —1<x<4 x € ]1-1,4]
—-Z<x<4 x€]-%4] —2<x<2 x €]1-2;2[
—20<x <40 x € [—20;40] —-3<x<5 x € [—3;5]
—-1<x<s5 x € [—3;5] x>0 x €]0; 400
-5<x<4 x € [—5:4] —2<x<3 x €1-23]
—-6<x<1 x €]—6;1] 0<x<2 x € [0;2]
—5<«x x € [—5 400 —5<x<5 x € ]-55]
—5<x<0 x € [—5;0] x<1 x € |—o0; +1]
x<0 x € ]0; 4o00[ —1<x x € |—1; 400

st

L) SYSWIR &
2x4+3=1—4x

2x+3=1—4x$2x+4x=1—-3 & 6x = —2

2 1
x=-2ex=—1200]

(x+3)(x—1) — (1—2x)(x+3) =0

(x+3)(x—1)—(1—2x)(x+3)=0
S (x+3)[(x—1)—(1—2x)]=0
& (x+3)[x—1—1+2x] =0

& (x+3)Bx—2)=0

x=3[209]

<=>x=—3}\

(4x—1)2— (2—x)(4x—1) =0

(4x—1)>2—(2—x)(4x—1) =0

S (Ax—1)[(4x—-1)—(2—x)]=0
& Wx—1)@x—1—-24x)=0

& (Ax—1)(5x—3) =0

Gx=gsx=g200]
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